
Cf

Cs
Vin

Vo(n−1)

Vos

−Vo(n−1)/A

−Vo(n−1)/A− Vos Cf

Cs
Vos

Vo

Vos

Vx

Vx

φ1 φ2

Vx = Vo/(−A), (Vo − (Vx − Vos))Cf + (0 − (Vx − Vos))Cs

= VinCs + (Vo(n − 1) +
Vo(n − 1)

A
+ Vos)Cf

Vo = Vin
Cs

Cf
− Vo

A
− Vos − (

Vo

A
+ Vos)

Cs

Cf
+ Vo(n − 1) +

Vo(n − 1)
A

+ Vos

Vo(1 +
1
A

+
1
A

Cs

Cf
) = Vin

Cs

Cf
− Vos

Cs

Cf
+ Vo(n − 1)(1 +

1
A

), β =
Cf

Cs + Cf

Vo = Vin
Cs

Cf

1
1 + 1

Aβ

− Vos
Cs

Cf

1
1 + 1

Aβ

+ Vo(n − 1)(1 +
1
A

)
1

1 + 1
Aβ

61



1
Aβ

= μ(1 + k), μ = 1/A, k =
Cs

Cf

Vo(n) = Vin(n − 1)
k

1 + μ(1 + k)
− Vos

k

1 + μ(1 + k)
+ Vo(n − 1)

1 + μ

1 + μ(1 + k)

Vo(n) ≈ Vin(n − 1)k(1 − (1 + k)μ) − Vos
k

1 + μ(1 + k)
+ (1 − kμ)Vo(n − 1)

Vos = 0, Vo(n)(1 + μ(1 + k)) = Vin(n − 1)k + Vo(n − 1)(1 + μ)

H(z) =
Vo

Vin
=

kz−1

1 + μ(1 + k) − (1 + μ)z−1

⇒ Vo(1) ≈ Vin(0)k(1 − (1 + k)μ)

⇒ Vo(2) ≈ Vin(1)k(1 − (1 + k)μ) + Vin(0)(1 − kμ)k(1 − (1 + k)μ)

⇒ Vo(3) ≈ Vin(2)k(1 − (1 + k)μ) + Vin(1)(1 − kμ)k(1 − (1 + k)μ)

+ Vin(0)(1 − kμ)2k(1 − (1 + k)μ)
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